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®
150040
141kg/l’1m2 131kg/
hm? 111kg/hm?
90kg/hm?
44%
1992/1993
2071.6 7451.96 27.8% FAO 1994
1997/1998 2437.7 159kg
1986 75kg
45kg 1997/1998
65.9 73.5kg
100. 5kg
1
1
N kg/hm* 1 No 2 Ny 3 Nyg 4 Niy 5 Nogg 6 Nyg
7 Nigg 8 Nigg 9 Nygp 10 Nyge
10 P, 05 48kg/hm’ 5 - 10cm
3 2lm®>  6m 3.5
m
1997 248 1998 25 1999 94 —
4083
1 20cm
g/'kg g'kg g/kg g'kg mg/kg mg/kg mg/kg ot
48.2 2.2 0.7 25.2 239.7 17.9 190.8 7.0
* 1975

) * ? KZ951—Al—301 KZ95T—04—01
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2.1
5046. Okg/hm? 2455. 5kg/
hm? 2037.0kg/hm? 2
9000 . y=5042+35.0x-0.124x> 2 *
7500 L kg/hm2
goto v y=2227+275x-0.105% 1997 1998 1999
4500 | T No 5046.0 2455.5 2037.0
3000 0 .- T Naa 5847.0 2500.5 3088.5
- Nug 6567.0 2272.5 3322.5
1500 | Ny, 6805.5 2386.5 3592.5
0 e e Nog 7026.0 2671.5 3784.5
0 24 48 72 96 120 144 168 192 216 Nizo 7272 0 2671.5 4377.0
Nigs 7767.0 2683.5 3907.5
2
BEHE kg/hm Nis  7687.5 2728.5 3648.0
Nig2 7057.5 2616.0 3598.5
Naie 6700.5 2671.5 3432.0
* 16% 14%
1
2 144kg
y=5042+35.0x-0.124x* 1 y=141 7512
141kg/hm? 7512kg/hm? y
=2227+27.5x - 0.105x* 131kg/hm? 4028kg/hm?
2.2
1
3 86.8%
144kg 7767kg/hm?
32.5%
59.5% 120kg
4377kg/hm’ 12.3% 144kg
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3 N
1997 1998 1999
kg/hm? kg/hm? % kg/hm? kg/hm? % kg/hm? kg/hm? %
No 114.0 15.0 -86.8 166.5 144.0 -13.5 55.5 22.5 -59.5
Nos 142.5 42.0 -70.5 177.0 171.0 -3.4 91.5 49.5 -45.9
Nyug 172.5 67.5 -60.9 172.5 184.5 7.0 109.5 73.5 -32.9
N7, 189.0 91.5 -51.6 187.5 213.0 13.6 129.0 99.0 -23.3
Nog 204.0 115.5 -43.4 213.0 250.5 17.6 145.5 123.0 -15.5
Nizo 222.0 126.0 -43.2 220.5 274.5 24.5 171.0 150.0 -12.3
Nias 244.5 165.0 -32.5 231.0 298.5 29.2 172.5 172.5 0
Nies 253.5 189.0 -25.4 241.5 325.5 34.8 178.5 195.0 9.2
Nioa 258.0 211.5 -18.0 243.0 343.5 41.4 189.0 219.0 15.9
Naie 264.0 235.5 -10.8 255.0 370.5 45.3 196.5 243.0 23.7
23%
SCI=1/1.23=0.81 E  34%°3
1-S8CI
B% = —,""-1 x100%
E
1-0.81
—%, -1 x100%
0.34
= _44%
44 %
96kg/hm’ 48kg/hm?
2.3
4
4
0 24 48 72 96 120 144 168 192 216
— 58.8 61.3 45.8 37.3 33.0 34.2 27.6 19.9 15.6
% — 87.5 53.8 51.0 38.1 41.0 27.6 20.8 17.6 14.1
15N
3
2.4 3
y=bo+bix+ byx?
d Px
dﬁyzb1+2b2xzpf R+1
X Y
Px Py R
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Px/Py R+1 —b,
2b,

x =

y=5042+35.0x - 0. 1242

1997 4.78 /kg 0.9 /kg
j =35.0- 0248x—% R+1
x = 120kg/hm
R 5
5 R 1997 6
1999
kg/hm? kg/hm? /hm? /hm? R
0 120 2414 573.60 1599.00 kg/hm? kg/hm? /hm? /hm?
0.2 115 2385 549.70 1596.80 0 108 1746 516.24 1229.76
0.4 111 2357 530.58 1590.72 0.4 99 1693 473.22 1219.79
0.6 107 2325 511.46 1581.04 0.8 90 1625 430.20 1194.80
1.0 98 2239 468 .44 1546 .66 1.2 81 1539 387.18 1151.82
1.5 88 2120 420.64 1487.36 1.6 72 1436 344.16 1091.84
2.0 77 1960 368.06 1395.94 2.0 63 1316 301.14 1014 .86
5 R
R 0 0.4 42.03 /hm?
8.28
R>0 R 0.4 111kg/
hm?
y=2227 +27.5x - 0.105x2
1.00 /kg N 4.78  /kg
j =27.5-0. 21x—% R+1
x =108
R 6
R 0.8 90kg/hm?
3
1.
NPK 95% K 6
P,05 48kg/hm* NPK
2.
2.0~6.0% 1%
1125kg/hm? !

273
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3.
7512kg/hm?
111kg/hm? 90kg/hm?
4.

122 ~ 124 127 ~ 128

1998 27 5 197 ~ 198

AN N W

44%

141kg/hm?
131kg/hm?

1997 5 61~63
1992

1994

1997 134 3 295 ~ 300

4028kg/hm?

1998 17



